## 319 Rogers Memorial Hospital - Brown Deer

4600 West Schroeder Drive

Brown Deer, WI 53223

414-865-2500

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

<b>Overall Hospital</b>	<b>Utilization</b>						Patient D	ischarge Stat	us
Total Discharges	:	2,806	Average L	ength of Stay (days):		6.2	Discharge Status		% Discharges
Total Patient Day	/s: 1	17,280	Average C	harge per Discharge	: \$	520,209	Home or Self-Care		94.4%
Psychiatric Utiliz	zation						Other GMS Hospital		0.0%
\ <u>-</u>							Critical Access Hospital	(CAH)	0.0%
Discharges:		2,039		All Discharges:		72.7%	Skilled Nursing Facility		0.0%
Patient Days:	1	13,601	Percent of	All Patient Days:		78.7%	Intermediate Care Facilit	•	0.0%
AODA Hillization	•						Inpatient Rehabilitation F	acility	0.0%
AODA Utilization	<u>11</u>						Hospice		0.0%
Discharges:		763	Percent of	All Discharges:		27.2%	Other Institution		0.0%
Patient Days:		3,643	Percent of	All Patient Days:		21.1%	Home Health Service		0.0%
	Age Distribution			;	Sex Distribution		Left Against Medical Adv	rice	4.0%
Age Group	% Discharges		ient Days	Sex	% Discharges	% Patient Days	Expired		0.0%
Under 15	17.8%	70 T GE	20.2%	Male	45.3%	44.3%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	24.6%		27.4%	Female	54.7%	55.7%	Other	- Dietribution	1.6%
20 - 24	10.8%		9.7%	Terriale	04.770	00.1 70	Raci	<u> Distribution</u>	
25 - 34	19.3%		16.3%	Expected	<u>l Pay Source Dis</u>	<u>tribution</u>	<u>Race</u>	% Discharges	% Patient Days
35 - 44	13.3%		12.2%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.9%	1.0%
45 - 54	8.4%		8.2%	Medicare		9.7%	Asian	0.8%	1.0%
55 - 64	4.6%		4.5%	Medicaid/Badger	Care	49.8%	Black/African Amer.	19.4%	18.8%
65 - 74	1.1%		1.2%	Other Governmer		0.3%	Native Hawaii/Pac.Isl.	0.5%	0.4%
75 - 84	0.2%		0.2%	Commercial or Pr	rivate Insurance	39.1%	White	69.5%	69.1%
85 & Over	0.0%		0.0%	Self-Pay		0.7%	Multiracial	1.5%	1.5%
				Other or Unknow	n Insurance	0.4%	Declined	0.3%	0.3%
							Unavailable	7.1%	7.7%

APR-DRG	<b>Specific</b>	Data
---------	-----------------	------

		A۱	erage Length of St	tay	Average Cl	narge per Discha	rge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	169	6.9	11.5	0.60	\$23,253	\$21,421	1.09
751 Psychoses	978	6.7	6.3	1.06	\$21,744	\$17,322	1.26
753 Bipolar Disorders	497	6.7	6.5	1.03	\$22,232	\$17,167	1.30
754 Depression	67	5.7	4.6	1.24	\$18,547	\$12,805	1.45
755 Neuroses Other Than Depression	182	6.2	5.1	1.22	\$20,102	\$13,931	1.44
756 Acute Adjust React Psychosocial Dysfunction	65	6.3	5.4	1.17	\$20,184	\$15,939	1.27
758 Behavioral disorders	45	7.5	6.3	1.19	\$24,064	\$18,811	1.28
759 Eating Disorders	*	*	18.7	*	*	\$59,113	*
760 Other Mental Disorders	7	8.9	13.9	0.64	\$28,129	\$45,201	0.62
770 Substance Abuse/Dependence, Left Against Medical Advice	66	2.4	2.0	1.20	\$7,985	\$6,399	1.25
773 Opioid Abuse/Dependence	372	5.0	4.3	1.16	\$16,661	\$14,186	1.17
774 Cocaine Abuse/Dependence	48	5.1	4.3	1.19	\$17,135	\$14,237	1.20
775 Alcohol Abuse/Dependence	252	4.8	3.9	1.23	\$16,039	\$12,401	1.29

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

## 033 Fond du Lac County Health Care Center

459 E 1st St

Fond du Lac, WI 54935

920-929-3500 Analysis Area: 3-Lake Winnebago

Hospital Type: PSYCH

County: Fond du Lac

Overall Hospital	Utilization						Patient D	ischarge Stat	us
Total Discharges	<b>:</b>	621	Average Le	ength of Stay (days)		6.3	Discharge Status		% Discharges
Total Patient Day	/s:	3,935	Average C	harge per Discharge	<b>:</b> :	\$5,168	Home or Self-Care		89.5%
Psychiatric Utili	zation						Other GMS Hospital		0.0%
· · · · · · · · · · · · · · · · · · ·							Critical Access Hospital	(CAH)	0.0%
Discharges:		422		All Discharges:		68.0%	Skilled Nursing Facility		0.0%
Patient Days:		3,114	Percent of	All Patient Days:		79.1%	Intermediate Care Facilit		0.0%
AODA Hillization	<b>-</b>						Inpatient Rehabilitation F	acility	0.0%
AODA Utilization	<u> </u>						Hospice		0.0%
Discharges:		193	Percent of	All Discharges:		31.1%	Other Institution		0.0%
Patient Days:		685	Percent of	All Patient Days:		17.4%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	ice	4.8%
Age Group	% Discharges		tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	0.0%	70	0.0%	Male	56.2%	53.9%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	4.2%		5.0%	Female	43.8%	46.1%	Other Race	Distribution	5.6%
20 - 24	14.7%		10.6%	Francisco et a	d Day Caymaa Dia	4!b4! a.u.			
25 - 34	26.2%		28.2%	Expected	<u>d Pay Source Dis</u>	tribution	<u>Race</u>	% Discharges	% Patient Days
35 - 44	23.2%		23.8%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	2.9%	2.9%
45 - 54	14.0%		11.7%	Medicare		23.8%	Asian	1.1%	1.1%
55 - 64	13.7%		14.2%	Medicaid/Badger	Care	39.1%	Black/African Amer.	6.8%	6.7%
65 - 74	3.5%		5.6%	Other Governme	nt	0.3%	Native Hawaii/Pac.Isl.	0.5%	0.8%
75 - 84	0.3%		0.4%	Commercial or P	rivate Insurance	15.9%	White	88.7%	88.4%
85 & Over	0.2%		0.5%	Self-Pay		20.8%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	0.0%	Declined	0.0%	0.0%
							Unavailable	0.0%	0.0%

		A۱	erage Length of S	tay	Average Cl	narge per Discha	irge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	107	9.4	11.5	0.82	\$7,634	\$21,421	0.36
751 Psychoses	142	7.6	6.3	1.21	\$6,230	\$17,322	0.36
753 Bipolar Disorders	130	6.5	6.5	1.00	\$5,289	\$17,167	0.31
754 Depression	20	4.1	4.6	0.89	\$3,431	\$12,805	0.27
755 Neuroses Other Than Depression	5	4.6	5.1	0.90	\$4,324	\$13,931	0.31
756 Acute Adjust React Psychosocial Dysfunction	10	3.5	5.4	0.65	\$3,008	\$15,939	0.19
758 Behavioral disorders	*	*	6.3	*	*	\$18,811	*
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A
760 Other Mental Disorders	0	N/A	13.9	N/A	*	\$45,201	N/A
770 Substance Abuse/Dependence, Left Against Medical Advice	10	2.9	2.0	1.45	\$1,880	\$6,399	0.29
773 Opioid Abuse/Dependence	21	3.8	4.3	0.88	\$3,312	\$14,186	0.23
774 Cocaine Abuse/Dependence	5	2.8	4.3	0.65	\$2,075	\$14,237	0.15
775 Alcohol Abuse/Dependence	136	3.3	3.9	0.85	\$2,634	\$12,401	0.21

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

301 E St Joseph Ave, PO Box 23725

Green Bay, WI 54305

920-433-3630 Analysis Area: 4-Northeastern

Overall Hospital	l Utilization						Patient D	ischarge Stat	<u>us</u>
Total Discharges	3:	1,957	Average Le	ength of Stay (days):		5.2	Discharge Status		% Discharges
Total Patient Day	ys:	10,129	Average C	harge per Discharge	: \$	311,916	Home or Self-Care		93.5%
Psychiatric Utili	zation						Other GMS Hospital	(0.1.1)	0.7%
							Critical Access Hospital	(CAH)	0.0%
Discharges:		1,484		All Discharges:		75.8%	Skilled Nursing Facility		0.7%
Patient Days:		8,391	Percent of	All Patient Days:		82.8%	Intermediate Care Facilit		0.2%
AODA Utilizatio	n						Inpatient Rehabilitation F	acility	0.1%
•	<u>[]</u>						Hospice		0.1%
Discharges:		453		All Discharges:		23.1%	Other Institution		0.0%
Patient Days:		1,597	Percent of	All Patient Days:		15.8%	Home Health Service		0.1%
	Age Distribution			,	Sex Distribution		Left Against Medical Adv	ice	4.1%
Ago Group	% Discharges	-	tient Days	•	% Discharges	% Patient Days	Expired		0.0%
<u>Age Group</u> Under 15	17.8%	<u> 70 F a</u>	19.3%	<u>Sex</u> Male	<u>% Discharges</u> 44.6%	42.5%	Discharge/Tran to Court	Law Enforcmnt	0.2%
15 - 19	18.6%		19.3%	Female	55.4%		Other _	<b>-</b>	0.5%
				remale	33.4%	57.5%	Race	<u>Distribution</u>	
20 - 24 25 - 34	7.9% 16.0%		7.2% 14.1%	Expected	l Pay Source Dis	<u>tribution</u>	Race	% Discharges	% Patient Days
35 - 44	13.7%		11.4%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	5.8%	5.1%
45 - 54	12.4%		11.9%	Medicare		15.5%	Asian	0.6%	0.8%
55 - 64	10.1%		10.5%	Medicaid/Badger	Care	36.2%	Black/African Amer.	3.9%	3.5%
65 - 74	2.9%		5.2%	Other Governmer		5.5%	Native Hawaii/Pac.Isl.	0.4%	0.3%
75 - 84	0.5%		0.6%	Commercial or Pr	ivate Insurance	38.6%	White	81.8%	82.6%
85 & Over	0.2%		0.3%	Self-Pay		3.6%	Multiracial	0.7%	0.8%
				Other or Unknow	n Insurance	0.6%	Declined	0.2%	0.1%
						3.370	Unavailable	6.6%	6.7%

Hospital Type: PSYCH

County: Brown

		A۱	erage Length of St	tay	Average Ch	narge per Discha	irge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	89	8.4	11.5	0.73	\$18,139	\$21,421	0.85
751 Psychoses	555	5.4	6.3	0.86	\$12,486	\$17,322	0.72
753 Bipolar Disorders	657	5.7	6.5	0.88	\$13,414	\$17,167	0.78
754 Depression	65	4.5	4.6	0.98	\$10,240	\$12,805	0.80
755 Neuroses Other Than Depression	55	4.9	5.1	0.96	\$11,087	\$13,931	0.80
756 Acute Adjust React Psychosocial Dysfunction	24	4.6	5.4	0.85	\$10,664	\$15,939	0.67
758 Behavioral disorders	25	5.0	6.3	0.79	\$12,007	\$18,811	0.64
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A
760 Other Mental Disorders	6	8.8	13.9	0.63	\$19,727	\$45,201	0.44
770 Substance Abuse/Dependence, Left Against Medical Advice	34	1.8	2.0	0.90	\$4,123	\$6,399	0.64
773 Opioid Abuse/Dependence	51	3.8	4.3	0.88	\$8,773	\$14,186	0.62
774 Cocaine Abuse/Dependence	34	4.0	4.3	0.93	\$8,872	\$14,237	0.62
775 Alcohol Abuse/Dependence	331	3.6	3.9	0.92	\$8,175	\$12,401	0.66

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

## **040 Brown County Community Treatment Center**

3150 Gershwin Drive

Green Bay, WI 54311

920-391-4700 Analysis Area: 4-Northeastern

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:	:	755	Average L	ength of Stay (days	s):	5.5	Discharge Status		% Discharges
Total Patient Day	s:	4,124	Average C	harge per Discharg	je:	\$5,289	Home or Self-Care		100.0%
Psychiatric Utiliz	zation						Other GMS Hospital		0.0%
rsycillatific Othiz	<u>zation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		755		All Discharges:		100.0%	Skilled Nursing Facility		0.0%
Patient Days:		4,124	Percent of	Percent of All Patient Days:		100.0%	Intermediate Care Facilit	У	0.0%
AODA Hitilization	_						Inpatient Rehabilitation F	acility	0.0%
AODA Utilization	<u>l</u>						Hospice		0.0%
Discharges:		0		All Discharges:		0.0%	Other Institution		0.0%
Patient Days:		0	Percent of	All Patient Days:		0.0%	Home Health Service		0.0%
	<b>Age Distribution</b>	ı			<b>Sex Distribution</b>		Left Against Medical Adv	rice	0.0%
Age Group	% Discharges	-	tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	0.0%	70 T G	0.0%	Male	55.4%	53.3%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	6.4%		5.5%	Female	44.6%	46.7%	Other	<b>Distribution</b>	0.0%
20 - 24	10.9%		8.2%				Naci	<del>z Distribution</del>	
25 - 34	31.3%		25.0%	Expecte	ed Pay Source Dist	<u>tribution</u>	Race	% Discharges	% Patient Days
35 - 44	23.4%		25.0%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	12.7%	10.8%
45 - 54	15.1%		17.4%	Medicare		11.5%	Asian	2.0%	1.3%
55 - 64	11.7%		16.5%	Medicaid/Badge	erCare	33.8%	Black/African Amer.	10.7%	8.3%
65 - 74	1.1%		2.2%	Other Governme	ent	1.3%	Native Hawaii/Pac.Isl.	0.3%	0.2%
75 - 84	0.3%		0.2%	Commercial or I	Private Insurance	45.2%	White	74.3%	79.4%
85 & Over	0.0%		0.0%	Self-Pay		8.2%	Multiracial	0.0%	0.0%
				Other or Unknow	wn Insurance	0.0%	Declined	0.0%	0.0%
							Unavailable	0.0%	0.0%

Hospital Type: PSYCH

County: Brown

		Av	erage Length of S	tay	Average Cl	narge per Disch	arge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	176	8.8	11.5	0.77	\$7,521	\$21,421	0.35
751 Psychoses	81	6.5	6.3	1.03	\$6,475	\$17,322	0.37
753 Bipolar Disorders	167	6.1	6.5	0.94	\$6,289	\$17,167	0.37
754 Depression	216	3.1	4.6	0.67	\$3,352	\$12,805	0.26
755 Neuroses Other Than Depression	92	3.1	5.1	0.61	\$3,051	\$13,931	0.22
756 Acute Adjust React Psychosocial Dysfunction	10	3.3	5.4	0.61	\$3,584	\$15,939	0.22
758 Behavioral disorders	7	6.1	6.3	0.97	\$6,475	\$18,811	0.34
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A
760 Other Mental Disorders	*	*	13.9	*	*	\$45,201	*
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$6,399	N/A
773 Opioid Abuse/Dependence	0	N/A	4.3	N/A	*	\$14,186	N/A
774 Cocaine Abuse/Dependence	0	N/A	4.3	N/A	*	\$14,237	N/A
775 Alcohol Abuse/Dependence	0	N/A	3.9	N/A	*	\$12,401	N/A

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

1351 Ontario Road

Green Bay, WI 54311

Hospital Type: PSYCH
County: Brown

Analysis Area: 4-Northeastern

Overall Hospital L	<u> Itilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		2,181	Average L	ength of Stay (days):		7.2	Discharge Status		% Discharges
Total Patient Days:	: ·	15,656	Average C	Charge per Discharge	<b>\$</b>	13,931	Home or Self-Care		90.6%
Psychiatric Utiliza	tion						Other GMS Hospital		0.6%
·	ition						Critical Access Hospital	(CAH)	0.0%
Discharges:		2,180		All Discharges:	•	100.0%	Skilled Nursing Facility		0.0%
Patient Days:	•	15,651	Percent of	All Patient Days:	•	100.0%	Intermediate Care Facilit	•	0.0%
AODA Utilization	AODA Utilization						Inpatient Rehabilitation F	acility	0.2%
							Hospice		0.1%
Discharges:		1		All Discharges:		0.0%	Other Institution		0.0%
Patient Days:		5	Percent of	All Patient Days:		0.0%	Home Health Service	:	0.3%
<u>.</u>	Age Distribution	Ĺ		<u> </u>	Sex Distribution		Left Against Medical Adv	ice	5.5%
Age Group	% Discharges	% Pat	tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired	l ou Enforcement	0.0%
Under 15	23.6%	-	27.9%	Male	42.7%	41.6%	Discharge/Tran to Court/ Other	Law Emorchini	1.3% 1.3%
15 - 19	25.6%		27.3%	Female	57.3%	58.4%	_	Distribution	1.370
20 - 24	7.7%		6.2%	Even a ata al	Day Caymaa Diat				
25 - 34	17.2%		14.3%	Expected	Pay Source Dist	ribution	<u>Race</u>	<u>% Discharges</u>	% Patient Days
35 - 44	11.7%		10.3%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	3.7%	4.0%
45 - 54	7.6%		7.0%	Medicare		9.4%	Asian	0.9%	0.9%
55 - 64	5.0%		5.6%	Medicaid/Badger(		52.2%	Black/African Amer.	2.0%	1.9%
65 - 74	1.2%		1.1%	Other Governmer	· ·	4.6%	Native Hawaii/Pac.Isl.	0.1%	0.1%
75 - 84	0.4%		0.4%	Commercial or Pr	ivate Insurance	32.7%	White	92.6%	92.6%
85 & Over	0.0%		0.0%	Self-Pay		0.8%	Multiracial	0.0%	0.0%
				Other or Unknown	n Insurance	0.3%	Declined	0.0%	0.0%
							Unavailable	0.7%	0.6%
				APF	R-DRG Specific D	ata			

		Av	erage Length of St	tay	Average Ch	narge per Discha	arge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	182	8.8	11.5	0.77	\$16,856	\$21,421	0.79
751 Psychoses	1,103	6.8	6.3	1.08	\$13,100	\$17,322	0.76
753 Bipolar Disorders	817	7.6	6.5	1.17	\$14,760	\$17,167	0.86
754 Depression	51	4.9	4.6	1.07	\$9,529	\$12,805	0.74
755 Neuroses Other Than Depression	13	6.2	5.1	1.22	\$12,189	\$13,931	0.87
756 Acute Adjust React Psychosocial Dysfunction	7	4.4	5.4	0.81	\$8,680	\$15,939	0.54
758 Behavioral disorders	*	*	6.3	*	*	\$18,811	*
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A
760 Other Mental Disorders	*	*	13.9	*	*	\$45,201	*
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$6,399	N/A
773 Opioid Abuse/Dependence	0	N/A	4.3	N/A	*	\$14,186	N/A
774 Cocaine Abuse/Dependence	0	N/A	4.3	N/A	*	\$14,237	N/A
775 Alcohol Abuse/Dependence	*	*	3.9	*	*	\$12,401	*

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

1600 N Chestnut Ave

Marshfield, WI 54449

715-384-2188 Analysis Area: 6-North Central

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges	s:	300	Average L	ength of Stay (days):		8.6	Discharge Status		% Discharges
Total Patient Day	/s:	2,583	Average C	Charge per Discharge	: \$	12,998	Home or Self-Care		89.3%
Psychiatric Utili	zation						Other GMS Hospital		0.3%
r sycillatific Othii.	<u>zation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		294		f All Discharges:		98.0%	Skilled Nursing Facility		0.0%
Patient Days:		2,542	Percent of	f All Patient Days:		98.4%	Intermediate Care Facilit	•	0.0%
AODA Utilization	n						Inpatient Rehabilitation F	acility	0.0%
	<u>!!</u>						Hospice		0.0%
Discharges:		6		All Discharges:		2.0%	Other Institution		0.0%
Patient Days:		41	Percent of	f All Patient Days:		1.6%	Home Health Service		0.0%
	<b>Age Distribution</b>				Sex Distribution		Left Against Medical Adv	ice	0.0%
Age Group	% Discharges	% Pat	tient Days	Sex	% Discharges	% Patient Days	Expired	<b>.</b>	0.0%
Under 15	0.0%	70 T C	0.0%	Male	55.7%	53.2%	Discharge/Tran to Court/ Other	Law Enforcmnt	2.0%
15 - 19	5.7%		2.9%	Female	44.3%	46.8%	_	Distribution	8.3%
20 - 24	14.0%		11.5%	Fyg. a ata a	l Day Caymaa Diat				
25 - 34	28.0%		25.3%	Expected	I Pay Source Dist	ribution	<u>Race</u>	<u>% Discharges</u>	% Patient Days
35 - 44	20.0%		13.6%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native		1.0%
45 - 54	11.7%		10.7%	Medicare		28.3%	Asian	0.7%	0.3%
55 - 64	11.0%		14.5%	Medicaid/Badger		45.7%	Black/African Amer.	3.3%	1.4%
65 - 74	8.3%		18.2%	Other Governmen	nt	1.7%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	1.0%		2.6%	Commercial or Pr	rivate Insurance	21.0%	White	94.0%	96.7%
85 & Over	0.3%		0.7%	Self-Pay		3.3%	Multiracial	0.7%	0.5%
				Other or Unknow	n Insurance	0.0%	Declined	0.0%	0.0%
							Unavailable	0.0%	0.0%

Hospital Type: PSYCH

County: Wood

		A	verage Length of S	tay	Average Ch	narge per Disch	arge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	42	17.1	11.5	1.49	\$25,388	\$21,421	1.19
751 Psychoses	121	7.8	6.3	1.24	\$11,783	\$17,322	0.68
753 Bipolar Disorders	53	7.8	6.5	1.20	\$11,810	\$17,167	0.69
754 Depression	36	4.7	4.6	1.02	\$7,232	\$12,805	0.56
755 Neuroses Other Than Depression	34	5.7	5.1	1.12	\$8,754	\$13,931	0.63
756 Acute Adjust React Psychosocial Dysfunction	*	*	5.4	*	*	\$15,939	*
758 Behavioral disorders	0	N/A	6.3	N/A	*	\$18,811	N/A
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A
760 Other Mental Disorders	*	*	13.9	*	*	\$45,201	*
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$6,399	N/A
773 Opioid Abuse/Dependence	0	N/A	4.3	N/A	*	\$14,186	N/A
774 Cocaine Abuse/Dependence	0	N/A	4.3	N/A	*	\$14,237	N/A
775 Alcohol Abuse/Dependence	*	*	3.9	*	*	\$12,401	*

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

## 147 Milwaukee County Behavioral Health Complex

#### 9455 W Watertown Plank Rd

Milwaukee, WI 53226

414-257-6995

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges	:	1,043	Average Le	ength of Stay (days)	):	15.2	Discharge Status		% Discharges
Total Patient Day	rs: 1	5,883	Average Cl	harge per Discharge	e: \$	25,962	Home or Self-Care		91.2%
Psychiatric Utiliz	zation						Other GMS Hospital		0.6%
PSychiatric Othiz	<u>zation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		1,013	Percent of	All Discharges:		97.1%	Skilled Nursing Facility		0.0%
Patient Days:	1	5,654	Percent of	All Patient Days:		98.6%	Intermediate Care Facili	•	0.0%
AODA Hillization	_						Inpatient Rehabilitation I	acility	0.0%
AODA Utilization	<u>!</u>						Hospice		0.0%
Discharges:		26		All Discharges:		2.5%	Other Institution		0.0%
Patient Days:		141	Percent of	All Patient Days:		0.9%	Home Health Service		0.2%
	<b>Age Distribution</b>				<b>Sex Distribution</b>		Left Against Medical Adv	rice	1.6%
Age Group	% Discharges		ent Days	Sex	% Discharges	% Patient Days	Expired		0.0%
Under 15	70 Discharges 17.4%	70 I au	5.0%	Male	52.3%	54.9%	Discharge/Tran to Court	Law Enforcmnt	0.4%
15 - 19	17.5%		8.2%	Female	47.7%	45.1%	Other	- Distribution	6.0%
20 - 24	8.7%		6.5%	i ciliale	41.170	43.170	Rac	<u> Distribution</u>	
25 - 34	19.3%		17.3%	<u>Expecte</u>	d Pay Source Dist	<u>ribution</u>	Race	% Discharges	% Patient Days
35 - 44	14.4%		25.2%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.3%	0.5%
45 - 54	10.4%		12.7%	Medicare		23.6%	Asian	1.1%	2.2%
55 - 64	9.9%		17.1%	Medicaid/Badge	rCare	52.6%	Black/African Amer.	64.7%	61.5%
65 - 74	2.1%		5.9%	Other Governme	ent	1.0%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	0.4%		2.2%	Commercial or F	Private Insurance	8.8%	White	30.7%	32.1%
85 & Over	0.0%		0.0%	Self-Pay		12.7%	Multiracial	0.0%	0.0%
				Other or Unknow	vn Insurance	1.3%	Declined	0.1%	0.1%
							Unavailable	3.2%	3.6%

		A۱	erage Length of St	tay	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio	
750 Schizophrenia	389	24.4	11.5	2.12	\$34,628	\$21,421	1.62	
751 Psychoses	185	10.1	6.3	1.60	\$15,744	\$17,322	0.91	
753 Bipolar Disorders	220	14.8	6.5	2.28	\$24,571	\$17,167	1.43	
754 Depression	33	4.0	4.6	0.87	\$8,652	\$12,805	0.68	
755 Neuroses Other Than Depression	115	4.3	5.1	0.84	\$9,485	\$13,931	0.68	
756 Acute Adjust React Psychosocial Dysfunction	11	3.0	5.4	0.56	\$6,551	\$15,939	0.41	
758 Behavioral disorders	34	4.5	6.3	0.71	\$10,003	\$18,811	0.53	
759 Eating Disorders	*	*	18.7	*	*	\$59,113	*	
760 Other Mental Disorders	11	4.3	13.9	0.31	\$9,370	\$45,201	0.21	
770 Substance Abuse/Dependence, Left Against Medical Advice	*	*	2.0	*	*	\$6,399	*	
773 Opioid Abuse/Dependence	5	3.4	4.3	0.79	\$6,657	\$14,186	0.47	
774 Cocaine Abuse/Dependence	5	5.8	4.3	1.35	\$11,356	\$14,237	0.80	
775 Alcohol Abuse/Dependence	6	4.2	3.9	1.08	\$8,158	\$12,401	0.66	

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

## 099 Rogers Memorial Hospital Inc

34700 Valley Road

Oconomowoc, WI 53066

262-646-4411 Analysis Area: 2A-Southeastern

Overall Hospital	<u>Utilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		2,836 Av	verage Lengt	th of Stay (days)	:	8.4	Discharge Status		% Discharges
Total Patient Days	s: 2	3,770 Av	verage Charg	ge per Discharge	<b>:</b> : \$	27,817	Home or Self-Care		94.0%
Psychiatric Utiliz	ation						Other GMS Hospital		0.0%
rsycillatific Othiz	<u>ation</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		2,241 Pe	ercent of All [	Discharges:		79.0%	Skilled Nursing Facility		0.0%
Patient Days:	2	1,071 Pe	ercent of All F	Patient Days:		88.6%	Intermediate Care Facilit	•	0.0%
AODA Utilization							Inpatient Rehabilitation F	acility	0.0%
AODA Utilization							Hospice		0.0%
Discharges:			ercent of All [	•		20.9%	Other Institution		0.0%
Patient Days:		2,688 Pe	ercent of All F	Patient Days:		11.3%	Home Health Service		0.0%
	Age Distribution				<b>Sex Distribution</b>		Left Against Medical Adv	ice	2.4%
Age Group	% Discharges	% Patient	t Dave	Sex	% Discharges	% Patient Days	Expired		0.0%
Under 15	18.8%			Male	35.9%	28.7%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	26.8%			Female	64.0%	71.3%	Other	Distribution	3.6%
20 - 24	11.9%		10.5%				Raci	<u> Distribution</u>	
25 - 34	15.8%		13.8%	Expected	d Pay Source Dis	<u>tribution</u>	<u>Race</u>	% Discharges	% Patient Days
35 - 44	11.8%	•	11.0% <u>F</u>	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	0.7%	1.1%
45 - 54	7.8%		5.4% N	Medicare		7.1%	Asian	1.2%	1.4%
55 - 64	5.3%		3.8% N	Medicaid/Badger	Care	28.0%	Black/African Amer.	3.5%	3.7%
65 - 74	1.5%		1.5%	Other Governme	nt	0.7%	Native Hawaii/Pac.Isl.	0.1%	0.1%
75 - 84	0.2%		0.4%	Commercial or P	rivate Insurance	62.7%	White	86.8%	86.4%
85 & Over	0.0%		0.0%	Self-Pay		1.0%	Multiracial	1.2%	1.2%
			(	Other or Unknow	n Insurance	0.5%	Declined	0.3%	0.3%
							Unavailable	6.2%	5.8%

Hospital Type: PSYCH

County: Waukesha

		A۱	erage Length of St	Average Cl	narge per Discha	rge	
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	56	7.0	11.5	0.61	\$23,710	\$21,421	1.11
751 Psychoses	1,100	7.4	6.3	1.17	\$24,135	\$17,322	1.39
753 Bipolar Disorders	325	5.9	6.5	0.91	\$19,863	\$17,167	1.16
754 Depression	112	7.3	4.6	1.59	\$23,752	\$12,805	1.85
755 Neuroses Other Than Depression	95	7.3	5.1	1.43	\$24,283	\$13,931	1.74
756 Acute Adjust React Psychosocial Dysfunction	36	7.3	5.4	1.35	\$23,827	\$15,939	1.49
758 Behavioral disorders	14	8.5	6.3	1.35	\$27,492	\$18,811	1.46
759 Eating Disorders	297	18.8	18.7	1.01	\$59,547	\$59,113	1.01
760 Other Mental Disorders	199	15.7	13.9	1.13	\$52,791	\$45,201	1.17
770 Substance Abuse/Dependence, Left Against Medical Advice	24	2.2	2.0	1.10	\$7,590	\$6,399	1.19
773 Opioid Abuse/Dependence	156	4.7	4.3	1.09	\$16,174	\$14,186	1.14
774 Cocaine Abuse/Dependence	12	5.3	4.3	1.23	\$18,761	\$14,237	1.32
775 Alcohol Abuse/Dependence	379	4.6	3.9	1.18	\$15,590	\$12,401	1.26

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

## 140 Waukesha County Mental Health Center

1501 Airport Rd

Waukesha, WI 53188

262-548-7957

Hospital Type: PSYCH

County: Waukesha

Analysis Area: 2A-Southeastern

Overall Hospital L	<u> Jtilization</u>						Patient D	ischarge Stat	<u>us</u>
Total Discharges:		472	Average L	ength of Stay (days)	:	13.8	Discharge Status		% Discharges
Total Patient Days	:	6,497	Average C	harge per Discharge	e: \$^	14,033	Home or Self-Care		79.7%
Psychiatric Utiliza	ation						Other GMS Hospital		3.6%
rsycillatific Othiza	ation						Critical Access Hospital	(CAH)	0.0%
Discharges:		430	Percent of	All Discharges:		91.1%	Skilled Nursing Facility		0.0%
Patient Days:		6,211	Percent of	All Patient Days:		95.6%	Intermediate Care Facilit	ty	0.0%
AODA Utilization							Inpatient Rehabilitation F	acility	0.0%
AODA Utilization							Hospice		0.0%
Discharges:		39		All Discharges:		8.3%	Other Institution		0.0%
Patient Days:		268	Percent of	All Patient Days:		4.1%	Home Health Service		0.0%
	Age Distribution	ı			Sex Distribution		Left Against Medical Adv	rice	0.0%
Age Group	% Discharges		tient Days	<u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	0.0%	70 T G	0.0%	Male	60.2%	53.5%	Discharge/Tran to Court	/Law Enforcmnt	
15 - 19	8.7%		6.5%	Female	39.8%	46.5%	Other	e Distribution	5.9%
20 - 24	13.3%		13.3%				Race		
25 - 34	26.7%		18.5%	Expected	d Pay Source Dist	<u>ribution</u>	Race	% Discharges	% Patient Days
35 - 44	19.5%		13.6%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native	e 0.0%	0.0%
45 - 54	13.8%		15.1%	Medicare		26.3%	Asian	1.5%	0.6%
55 - 64	11.7%		20.7%	Medicaid/Badger	Care	27.3%	Black/African Amer.	7.8%	6.4%
65 - 74	4.9%		10.2%	Other Governme	nt	1.9%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	1.5%		2.2%	Commercial or P	rivate Insurance	27.3%	White	90.3%	92.9%
85 & Over	0.0%		0.0%	Self-Pay		16.9%	Multiracial	0.0%	0.0%
				Other or Unknow	n Insurance	0.2%	Declined	0.0%	0.0%
							Unavailable	0.4%	0.1%
				AP	R-DRG Specific D	ata			

	AFR-D	KG Specific De	ala					
		A۱	verage Length of S	tay	Average Cl	Average Charge per Discharge		
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio	
750 Schizophrenia	113	25.9	11.5	2.25	\$21,305	\$21,421	0.99	
751 Psychoses	58	20.1	6.3	3.19	\$12,467	\$17,322	0.72	
753 Bipolar Disorders	104	11.8	6.5	1.82	\$13,039	\$17,167	0.76	
754 Depression	117	5.3	4.6	1.15	\$4,892	\$12,805	0.38	
755 Neuroses Other Than Depression	15	7.3	5.1	1.43	\$8,279	\$13,931	0.59	
756 Acute Adjust React Psychosocial Dysfunction	14	4.9	5.4	0.91	\$5,564	\$15,939	0.35	
758 Behavioral disorders	0	N/A	6.3	N/A	*	\$18,811	N/A	
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A	
760 Other Mental Disorders	5	14.6	13.9	1.05	\$16,361	\$45,201	0.36	
770 Substance Abuse/Dependence, Left Against Medical Advice	0	N/A	2.0	N/A	*	\$6,399	N/A	
773 Opioid Abuse/Dependence	15	9.3	4.3	2.16	\$10,462	\$14,186	0.74	
774 Cocaine Abuse/Dependence	*	*	4.3	*	*	\$14,237	*	
775 Alcohol Abuse/Dependence	11	4.8	3.9	1.23	\$5,440	\$12,401	0.44	

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

#### 144 North Central Health Care

1100 Lakeview Dr

Wausau, WI 54403

715-848-4600

Hospital Type: PSYCH

County: Marathon

Analysis Area: 6-North Central

							, y 0.0 , 0 d		
Overall Hospita	I Utilization						Patient <b>D</b>	Discharge Stat	<u>us</u>
Total Discharges	s:	762	Average L	ength of Stay (days):		5.5	Discharge Status		% Discharges
Total Patient Da	ys:	4,186	Average C	harge per Discharge	:	\$7,659	Home or Self-Care		89.1%
Devebiatria I Itil	ization						Other GMS Hospital		4.9%
Psychiatric Util	<u>ızatıdı</u>						Critical Access Hospital	(CAH)	0.0%
Discharges:		628	Percent of	All Discharges:		82.4%	Skilled Nursing Facility		0.3%
Patient Days:		3,709	Percent of	All Patient Days:		88.6%	Intermediate Care Facili	ty	0.3%
A O D A 114:1:4:							Inpatient Rehabilitation I	acility	0.0%
AODA Utilizatio	<u>on</u>						Hospice		0.0%
Discharges:		133	Percent of	All Discharges:		17.5%	Other Institution		0.0%
Patient Days:		476	Percent of	All Patient Days:		11.4%	Home Health Service		0.0%
	Age Distribution			!	Sex Distribution		Left Against Medical Adv	vice .	3.4%
Ago Croup	% Discharges		tiont Dava	-	% Discharges	% Dationt Dava	Expired		0.0%
<u>Age Group</u> Under 15	76 Discharges	<u> 70 Fa</u>	tient Days 1.2%	<u>Sex</u> Male	51.7%	<u>% Patient Days</u> 51.6%	Discharge/Tran to Court	/Law Enforcmnt	1.3%
15 - 19	7.1%		8.3%	Female	48.3%	48.4%	Other	D: ( !) (:	0.8%
20 - 24	10.5%		10.1%	remale	40.570	40.4 /0	Rac	<u>e Distribution</u>	
25 - 34	27.4%		24.0%	Expected	Pay Source Dist	<u>tribution</u>	Race	% Discharges	% Patient Days
35 - 44	22.8%		21.5%	Primary Payer		% Discharges	Amer.Ind/Alaskan Native		0.6%
45 - 54	14.3%		14.8%	Medicare		19.3%	Asian	1.4%	1.7%
55 - 64	12.9%		13.9%	Medicaid/Badger(	Care	51.4%	Black/African Amer.	5.8%	4.9%
65 - 74	3.0%		3.9%	Other Governmer		0.8%	Native Hawaii/Pac.Isl.	0.0%	0.0%
75 - 84	0.5%		1.5%	Commercial or Pr		19.7%	White	81.8%	83.4%
85 & Over	0.4%		0.7%	Self-Pay		7.9%	Multiracial	0.0%	0.0%
22 2. 3.0.	0.1.70		270	Other or Unknow	n Insurance	0.9%	Declined	10.4%	9.4%
						3.070	Unavailable	0.0%	0.0%
							J	0.070	0.070

APR-DRG	Specific Data
---------	---------------

		A۱	erage Length of St	tay	Average Cl	narge per Discha	irge
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	96	8.3	11.5	0.72	\$11,483	\$21,421	0.54
751 Psychoses	257	5.9	6.3	0.94	\$8,222	\$17,322	0.47
753 Bipolar Disorders	114	6.0	6.5	0.92	\$8,486	\$17,167	0.49
754 Depression	69	5.0	4.6	1.09	\$7,112	\$12,805	0.56
755 Neuroses Other Than Depression	54	4.1	5.1	0.80	\$5,743	\$13,931	0.41
756 Acute Adjust React Psychosocial Dysfunction	20	3.0	5.4	0.56	\$3,958	\$15,939	0.25
758 Behavioral disorders	*	*	6.3	*	*	\$18,811	*
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A
760 Other Mental Disorders	*	*	13.9	*	*	\$45,201	*
770 Substance Abuse/Dependence, Left Against Medical Advice	*	*	2.0	*	*	\$6,399	*
773 Opioid Abuse/Dependence	5	5.4	4.3	1.26	\$7,425	\$14,186	0.52
774 Cocaine Abuse/Dependence	0	N/A	4.3	N/A	*	\$14,237	N/A
775 Alcohol Abuse/Dependence	82	2.7	3.9	0.69	\$3,730	\$12,401	0.30

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

# 149 Aurora Psychiatric Hospital

1220 Dewey Avenue

Wauwatosa, WI 53213

414-454-6600

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital L	<u> Jtilization</u>						Patient D	ischarge State	<u>us</u>
Total Discharges:		5,431 Av	erage Length o	f Stay (days):		4.1	Discharge Status		% Discharges
Total Patient Days	: 2	22,465 Av	erage Charge p	er Discharge	:	316,431	Home or Self-Care		90.6%
Psychiatric Utiliza	ation						Other GMS Hospital		1.3%
rsycillatific Othiza	ation						Critical Access Hospital	(CAH)	0.0%
Discharges:			ercent of All Disc			79.0%	Skilled Nursing Facility		0.1%
Patient Days:	1	8,754 Pe	ercent of All Pati	ent Days:		83.5%	Intermediate Care Facili	ty	0.0%
AODA Hillimation							Inpatient Rehabilitation F	acility	0.4%
AODA Utilization							Hospice		0.0%
Discharges:		•	ercent of All Disc			20.4%	Other Institution		0.0%
Patient Days:		3,586 Pe	ercent of All Pati	ent Days:		16.0%	Home Health Service		0.0%
	Age Distribution				Sex Distribution		Left Against Medical Adv	rice	6.8%
Age Group	% Discharges	% Patient	Days Sex		% Discharges	% Patient Days	Expired		0.0%
Under 15	12.0%		12.2% Mal		52.0%	51.5%	Discharge/Tran to Court	/Law Enforcmnt	0.0%
15 - 19	12.0%		11.5% Fen		48.0%	48.5%	Other	. Dietribution	0.9%
20 - 24	10.2%		10.0%				Raci	e Distribution	
25 - 34	22.1%		20.6%	Expected	l Pay Source Dis	<u>tribution</u>	<u>Race</u>	% Discharges	% Patient Days
35 - 44	17.4%	1	17.0% Prin	nary Payer		% Discharges	Amer.Ind/Alaskan Native	0.7%	0.6%
45 - 54	13.7%	1	14.2% Med	dicare		14.7%	Asian	0.7%	0.6%
55 - 64	9.5%	1	10.8% Med	dicaid/Badger	Care	53.9%	Black/African Amer.	26.8%	27.8%
65 - 74	2.7%		3.4% Oth	er Governmei	nt	1.8%	Native Hawaii/Pac.Isl.	0.3%	0.3%
75 - 84	0.3%		0.3% Cor	nmercial or Pi	rivate Insurance	28.0%	White	69.1%	68.4%
85 & Over	0.1%		0.1% Self	-Pay		1.5%	Multiracial	1.8%	1.9%
			Oth	er or Unknow	n Insurance	0.0%	Declined	0.6%	0.5%
							Unavailable	0.0%	0.0%

APR-DI	RG Spec	ific Data

		Average Length of Stay			Average Charge per Discharge		
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	461	5.4	11.5	0.47	\$21,397	\$21,421	1.00
751 Psychoses	1,628	4.3	6.3	0.68	\$16,812	\$17,322	0.97
753 Bipolar Disorders	1,387	4.5	6.5	0.69	\$18,052	\$17,167	1.05
754 Depression	561	3.8	4.6	0.83	\$14,928	\$12,805	1.17
755 Neuroses Other Than Depression	124	3.5	5.1	0.69	\$13,982	\$13,931	1.00
756 Acute Adjust React Psychosocial Dysfunction	61	3.6	5.4	0.67	\$14,121	\$15,939	0.89
758 Behavioral disorders	32	3.8	6.3	0.60	\$14,971	\$18,811	0.80
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A
760 Other Mental Disorders	12	3.0	13.9	0.22	\$12,115	\$45,201	0.27
770 Substance Abuse/Dependence, Left Against Medical Advice	87	1.4	2.0	0.70	\$5,905	\$6,399	0.92
773 Opioid Abuse/Dependence	288	3.4	4.3	0.79	\$14,045	\$14,186	0.99
774 Cocaine Abuse/Dependence	89	3.6	4.3	0.84	\$14,662	\$14,237	1.03
775 Alcohol Abuse/Dependence	624	3.3	3.9	0.85	\$13,513	\$12,401	1.09

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported

## 192 Rogers Memorial Hospital - Milwaukee

11101 W Lincoln Ave West Allis, WI 53227

414-327-3000

Hospital Type: PSYCH

County: Milwaukee

Analysis Area: 2B-Milwaukee County

Overall Hospital	<u>Utilization</u>					Patient D	ischarge Stat	us
Total Discharges:	:	3,731 Ave	erage Length of Stay (	(days):	5.6	Discharge Status		% Discharges
Total Patient Day	s: 2	20,860 Ave	erage Charge per Disc	charge:	\$18,186	Home or Self-Care		94.1%
Psychiatric Utiliz	zation					Other GMS Hospital		0.0%
' <del></del>	<u>-ution</u>					Critical Access Hospital	(CAH)	0.0%
Discharges:		,	rcent of All Discharges		64.2%	Skilled Nursing Facility		0.0%
Patient Days:	1	15,461 Per	rcent of All Patient Day	ys:	74.1%	Intermediate Care Facilit	•	0.0%
AODA Hillingtion	_					Inpatient Rehabilitation F	acility	0.0%
AODA Utilization	<u>l</u>					Hospice		0.0%
Discharges:			rcent of All Discharges		35.7%	Other Institution		0.0%
Patient Days:		5,390 Per	rcent of All Patient Day	ys:	25.8%	Home Health Service		0.0%
	Age Distribution			Sex Distribution		Left Against Medical Adv	rice	4.6%
Age Group	% Discharges	% Patient	<u>Days</u> <u>Sex</u>	% Discharges	% Patient Days	Expired		0.0%
Under 15	12.1%		7.7% Male	52.9%	50.5%	Discharge/Tran to Court	Law Enforcmnt	0.0%
15 - 19	14.6%		8.1% Female	47.0%	49.5%	Other	. Distribution	1.3%
20 - 24	11.7%		0.4% remale	47.070	49.570	Race	<u> Distribution</u>	
25 - 34	24.7%		0.3% <u>Exp</u>	ected Pay Source Dis	<u>stribution</u>	Race	% Discharges	% Patient Days
35 - 44	17.7%		5.3% Primary Pa	ver	% Discharges	Amer.Ind/Alaskan Native	0.9%	0.8%
45 - 54	11.4%		0.3% Medicare	<del></del>	12.8%	Asian	0.5%	0.6%
55 - 64	6.0%			adgerCare	50.3%	Black/African Amer.	14.1%	15.2%
65 - 74	1.6%		1.7% Other Gove		0.3%	Native Hawaii/Pac.Isl. 0.3%		0.3%
75 - 84	0.2%	(	0.2% Commercia	Commercial or Private Insurance		White 74.1%		71.6%
85 & Over	0.0%		0.0% Self-Pay	Self-Pay		Multiracial 1.29		1.5%
				Other or Unknown Insurance		Declined	0.2%	0.2%
					0.4%	Unavailable	8.6%	9.9%
				ADD DDC Conside	Data			

		A۱	erage Length of St	Average Charge per Discharge			
APR-DRG # and Description	Number of Discharges	This Facility	All Wisconsin PSYCH	Ratio	This Facility	All Wisconsin PSYCH	Ratio
750 Schizophrenia	272	6.7	11.5	0.58	\$22,451	\$21,421	1.05
751 Psychoses	1,067	6.0	6.3	0.95	\$19,559	\$17,322	1.13
753 Bipolar Disorders	686	6.7	6.5	1.03	\$21,899	\$17,167	1.28
754 Depression	158	6.8	4.6	1.48	\$21,783	\$12,805	1.70
755 Neuroses Other Than Depression	46	6.5	5.1	1.27	\$21,098	\$13,931	1.51
756 Acute Adjust React Psychosocial Dysfunction	80	6.7	5.4	1.24	\$21,783	\$15,939	1.37
758 Behavioral disorders	65	7.8	6.3	1.24	\$25,600	\$18,811	1.36
759 Eating Disorders	0	N/A	18.7	N/A	*	\$59,113	N/A
760 Other Mental Disorders	*	*	13.9	*	*	\$45,201	*
770 Substance Abuse/Dependence, Left Against Medical Advice	116	2.1	2.0	1.05	\$6,819	\$6,399	1.07
773 Opioid Abuse/Dependence	644	4.1	4.3	0.95	\$13,319	\$14,186	0.94
774 Cocaine Abuse/Dependence	85	4.6	4.3	1.07	\$14,831	\$14,237	1.04
775 Alcohol Abuse/Dependence	456	4.3	3.9	1.10	\$13,981	\$12,401	1.13

N/A - Zero Discharges reported

<sup>\* 1</sup> through 4 Discharges reported